
EARTHING EQIPMENTS

42,5 mm

42,5 mm

45,5 mm

25 mm

62,5 mm

35 mm

40 mm

20,5 mm

CODE

PA 1-1

PA 2-2

Material:Aluminum

Material:Aluminum

M8X40 Hex Bolt

Spring Lock Washers

Spring Lock Washers

M8X35 Hex Bolt

www.metaksan.com

CODE

DATASHEET

R 6 mm

R 4,30 mm

DIMENSIONSDATAPRODUCT DRAWING

DIMENSIONSPRODUCT DRAWING

HEX BOLT M8X35

HEX BOLT M8X35

1 pc

kg

1 pc

kg

0,092

0,161

Threaded Hole 


	Sayfa 1

		2024-02-08T14:11:10+0200
	Moldova
	MoldSign Signature




